
The place value for the group of symbols on the right has to be 1. The place value for the 
group of symbols on the left is 60^1.

Similarly, the place values for the third group of symbols from the right and the group of 
symbols on the far left are 60^2 and 60^3

Mayan Numeration SystemMayan Numeration System
The given Mayan numeral has three place values. From top to 
bottom, the place values are 7200, 360, 20, and 1.

LCV Lcccvv = ( 101-10+17×60
'
+ ( 10+10+10+10 +1+11×1

(21×60)+(42×1)=12601-42 =

1302

LV VV LC LV

= ( 10717×603+(1+1) ✗ 60^+110+107×60't (10+1)×1

(11×603) (2×602) ( 20×60
'

) (11×1)

(11×216,000)+(2×3600) +(20×60)+(11×1)

2,376,0001-72001-12001-11=2,384,411

' ' ' '

= a (9×360) + (6×20)+(5×1)=3365
'

= 6

= 5

- . = 2 (2×360) 1- (13×20)+(10×1)=990
- '

'

= 13

= 10

= 10 (10×7200)+(13×360) + (9×20)+(15×1)

- ' '

= 13
= 76,875

. . ' '

I 9

= 15
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